- B 25 A BE CO2 55 HI B =

HEEMOBH(N) | LOSHIRARM ) COZHIHE () LOSHIRER ()

4H 926,797 963,601 40.370 8.672
54 964,435 999,379 41.869 8.994
6H 947,670 979,762 41.047 8.818
7R 901,587 929,258 38.931 8.363
8H 912,797 947,606 39.700 8.528
9H 873,780 903,807 37.865 8.134
10H 853,895 883,263 37.004 7.949
118 837,923 866,604 36.306 7.799
128 919,740 960,077 40.222 8.641
1A 831,072 861,677 36.100 7.755
2R 790,837 818,348 34.285 7.365
3H 900,629 933,848 39.124 8.405

Hi 10,661,162 11,047,229 462.824 99.425

X LURHIBME = 3EEHODEET x 12 (LORF1ANY 1.2/ LiE)
¥ CO02 HIEE = L RHEIEMKE x 41.895 /1000000 (LoR1MA-YUDCO2HIHEZL 41.895g LHE)
X LURHIREE = LORHIFMAE x 9/1000000 (LOR1IMHB-UYDEESR 9g LBEH)




